FILE: BIM 360:/006.3608.000 - Regeneron, Day Care Facility Tarrytown/N21270.00-Regeneron_R20.rvt PLOTTED ON 08/07/20

REAL ESTATE &
TR 107 CorE TYPE 2L1 DOUBLE ANGLE TR 10 CorE TYPE 2L2 DOUBLE ANGLE FACILITIES MANAGEMENT
W8 THROUGH W10 = 1" MAXIMUM W8 THROUGH W10 = 1" MAXIMUM
S s, W12 AND DEEPER = 2 1/2" MAXIMUM . === W12 AND DEEPER = 2 1/2" MAXIMUM .
. R TYPICAL SHEAR CONNECTION SCHEDULE: PR \ TYPICAL SHEAR CONNECTION SCHEDULE:
002, Q\ oLAX3A/2X38 3/4" DIAMETER ASTM F3125-N BOLTS 22, b | | Laxa12x3i8 3/4" DIAMETER ASTM F3125-N BOLTS 777 Old Saw Mill River Road
- 1|l H n — | "
@) ) (4" LEG TO SUPPORTING BEAM) au S (4" LEG TO SUPPORTING BEAM)
55T 'S i) < TYPICAL GRADES A325 OR F1852 D5 i < TYPICAL GRADES A325 OR F1852 Tarrytown, NY 10591-6707
X< i CONNECTION CAPACITY (KIPS) ZolF i CONNECTION CAPACITY (KIPS) .
7 f - 5-1/2" BOLT GAGE AT NR [NO [ C=#4 C=6 C=8 2 f - 5:1/2" BOLT GAGE AT NR [NO | C=@ C=6 e 1:914.847.7400
¥ O SUPPORTING BEAM BEAMSIZE  lgoLTs| coPE [ Tc [ TBC | TC [ TBC | TC [ TBC > gl \ SUPPORTING BEAM TYPICAL BEAMSIZE  1goLTs| coPE [T¢ [ TBC | TC | T8C | TC | TBC F:914.847.7991
SIDES
TYPICAL ws | x10 2 25 | 20 9 14 6 11 4 141 <T3YPICAL w8 [ x10 2 44 | 20 9 14 6 11 4 www.regeneron.com
. \ SUPPORTED BEAM x13-24 2 34 | 27 13 19 9 14 7 o \ SUPPORTED BEAM x13-24 2 44 27 13 19 9 14 7
1/2"1T/§1( PI}ACI/I\iLMUM TYPICAL Xx28+ 2 43 37 16 26 11 20 9 1/2" TYPICAL TYPICAL X28+ 2 44 37 16 26 11 20 9 BU i| d i ng # 1 7
w10 [ x12 2 28 | 28 11 24 7 19 5 w10 [ x12 2 44 34 11 24 7 19 5
x15-26 2 34 34 13 30 9 23 7 Eﬁm‘\ x15-26 2 44 43 13 30 9 23 7 . .
ﬁﬁ‘\ SUPPORTING BEAM X30+ 2 | a4 | 4 | 17 | 44 | 12 | 37 | 9 SUPPORTING BEAM X30+ 2 | a4 | 44 | 17 | 44 | 12 | 37 | 9 Campus Expansion Child
W12 [ x14-16 2 30 30 11 28 8 20 6 w12 [ x14-16 2 44 40 11 28 8 20 6
@TOP COPE ONLY (TC) 3 | 48 | 40 | 25 | 28 | 16 | 20 | 11 @TOP COPE ONLY (TC) 3 | 66 | 40 | 25 | 28 | 16 | 20 | 11 Day care Center
x19-30 2 35 35 13 35 9 28 7 x19-30 2 44 44 13 37 9 28 7
3 56 | 49 30 37 20 28 14 3 66 52 30 37 20 28 14
X35+ 2 44 | 44 17 44 12 41 9 X35+ 2 44 44 17 | 44 12 41 9 777 Old Saw Mill River Road
C=COPE LENGTHA# W14 | x22-30 g gg gg gg ig ?; g; ?Z C=COPE LENGTHA# W14 | x22-30 g gg gg gg Zg ?; g; fg Mount Pleasant, NY 10591
i | x34-48 3 66 66 36 66 26 51 19 . | x34-48 3 66 66 36 66 26 51 19 Project No. B17-DAYCARE
Y— 3 53+ 3 66 66 47 66 33 66 26 — 3 53+ 3 66 66 47 66 33 66 | 26
] ,@Q \\E W16 226-31 3 59 | 58 | 32 | 58 | 22 | 54 | 16 I ] @ ‘\% W16 226-31 3 92 | 92 | 32 | 72 | 22 | 54 | 16 Architect
> 4 81 71 57 71 37 54 26 = 4 123 | 99 57 72 37 54 | 26 G I
| | 2 H =
i @Q = x36-40 3 70 68 38 68 27 68 20 i @ = x36-40 3 92 92 38 91 27 70 | 20 1700?()';!\2 Stle‘400
" @ O == 4 9 | 85 | 67 | 85 | 47 | 70 | 33 K] @ = 5 4 | 123 | 119 | 67 | 91 | 47 | 70 | 33 New Yok Ny 34,0019
I S x45+ 3 82 80 44 80 31 80 24 I 2 o x45+ 3 92 92 44 92 31 85 | 24 ’
B = P 212) 492-1400 Phone
4 :@6 % W18 | x35-50 g 17112 16091 gg 16091 g? 28 3(2) Y :@ = w18 [ x35-50 g 19223 19223 gg 19121 g? gg 3(2) EZQ; A92-1a72 Fax
- x35- | = x35-
M@ 7@@ P 4 98 88 68 88 48 88 34 M@ @ % 4 123 123 68 114 48 88 34 Structural Engineer
mﬁ:z'—xj 5 124 | 95 93 95 73 88 52 [ ¥ 5 154 | 137 | 107 | 114 | 73 88 52
X55+ 3 92 90 50 90 35 90 27 X55+ 3 92 92 50 92 35 92 27 Thornton Tomasetti
4 123 | 115 | 89 | 115 | 62 | 115 | 48 4 123 | 123 | 89 | 123 | 62 | 123 | 48 120 Broadway, 15th Floor
5 154 | 128 | 121 | 128 | 98 | 126 | 75 5 154 | 154 | 139 | 154 | 98 | 126 | 75 New York, NY 10271
W21 | x44-63 4 114 [ 103 | 80 | 103 | 56 [ 103 | 43 W21 | x44-63 4 123 | 123 | 80 | 123 | 56 | 123 | 43 (917) 661-7800 Phone
@TOP AND BOTTOM COPE (TBC) 5 145 | 125 | 109 | 125 | 88 | 125 | 64 @TOP AND BOTTOM COPE (TBC) 5 154 | 154 | 124 | 154 | 88 | 143 | 64 (917) 661-7801 Fax
SEE NOTE 3 6 | 175 | 133 | 131 | 133 | 126 | 133 | o1 SEE NOTE 3 6 | 184 | 184 | 179 | 184 | 126 | 143 | of . _
" 1 1/4* MINIMUM X68+ 4 | 123 | 123 | 98 | 123 | 69 | 123 | 53 ,, X68+ 4 | 123 | 123 | 98 | 123 | 69 | 123 | 53 MEP /1T / Security Engineer
V25, 1 5 154 | 153 | 134 | 153 | 108 | 153 | 83 V2, 5 154 | 154 | 153 | 154 | 108 | 154 | 83 N _
v 6 184 | 168 | 160 | 168 | 155 | 168 | 119 v 6 184 | 184 | 184 | 184 | 155 | 184 | 119 fé)ges”;/”é rﬁ\ﬁsp?\%ar:ﬁ:
W24 - 4 MIN 4 123 [ 116 | 90 [ 116 | 63 | 116 | 49 W24 - 4 MIN 4 123 [ 123 [ 90 [ 123 [ 63 [ 123 | 49 New vork. NY 10018
2L4X3-1/2X3/8 (4" LEG TO SUPPORT) W27, W30 - 5 MIN 5 154 | 141 | 123 | 141 | 99 | 141 | 76 2L.4X3-1/2X3/8 (4" LEG TO SUPPORT) W27, W30 - 5 MIN 5 154 | 154 | 140 | 154 | 99 [ 154 | 76 (212) 615-3600 Phone
(5-1/2" BOLT GAGE ON COLUMN) W33-W40 - 7 MIN 6 184 | 165 | 147 | 165 | 142 | 165 | 108 (5-1/2" BOLT GAGE ON COLUMN) W33-W40 - 7 MIN 6 184 | 184 | 184 | 184 | 142 | 184 | 108 (212) 615-3700 Fax
OR 7 215 | 215 | 200 | 215 | 200 | 215 | 174 OR 7 | 215 | 215 | 215 | 215 | 215 | 215 | 174
m@}@ O 2L5X3-1/2X3/8 (5" LEG TO SUPPORT) 8 246 | 246 | 234 | 246 | 234 | 246 | 232 m@%@ 2L.5X3-1/2X3/8 (5" LEG TO SUPPORT) 8 246 | 246 | 246 | 246 | 246 | 246 | 232 Civil Engineer
' o (7-1/2" BOLT GAGE ON COLUMN) 9 | 276 | 276 | 276 | 276 | 276 | 276 | 276 IS (7-1/2" BOLT GAGE ON COLUMN) 9 | 276 | 276 | 276 | 276 | 276 | 276 | 276
] L 10 | 307 | 307 | 307 | 307 | 307 | 307 | 307 ] L 10 | 307 | 307 | 307 | 307 | 307 | 307 | 307 IMC
g O ) 120 Bedford Road
| | R— 74 3 SIDES Armonk, NY 10504
O () (914) 273-5225 Phone
(914) 273-2102 Fax
‘\L SUPPORTED BEAM ‘\L SUPPORTED BEAM Landscape Architect
COLUMN SUPPORT COLUMN SUPPORT Langan
N Ay 21 Penn Plaza, 360 West 31st Street, 8th Floor
New York, NY 10001
BEAM TO COLUMN FLANGE (NO COPE) BEAM TO COLUMN FLANGE (NO COPE) (212) 479-5400 Phone
C C (212) 479-5444 Fax
NOTES: NOTES:
1. SEE TYPICAL ANGLE SHEAR CONNECTION GENERAL NOTES FOR ADDITIONAL INFORMATION 1. SEE TYPICAL ANGLE SHEAR CONNECTION GENERAL NOTES FOR ADDITIONAL INFORMATION
2. SELECT CONNECTION CAPACITY BASED ON COPED CONDITION OF BEAM 2. SELECT CONNECTION CAPACITY BASED ON COPED CONDITION OF BEAM
3. TBC VALUES IN TABLE ALSO APPLY TO BOTTOM COPE ONLY CONDITION 3. TBC VALUES IN TABLE ALSO APPLY TO BOTTOM COPE ONLY CONDITION
4. SSLT HOLES IN ANGLE LEG TO SUPPORT 4. SSLT HOLES IN ANGLE LEG TO SUPPORT
5. MINIMUM COLUMN FLANGE WIDTH SHALL BE 8" (INCLUDES: W10x33+, W12x40+, W14x43+) 5. MINIMUM COLUMN FLANGE WIDTH SHALL BE 8" (INCLUDES: W10x33+, W12x40+, W14x43+)
1 TYPICAL DOUBLE ANGLE SHEAR CONNECTION AT BEAM OR COLUMN FLANGE (TYPE 2L1) - BOLTED-BOLTED 9 TYPICAL DOUBLE ANGLE SHEAR CONNECTION AT BEAM OR COLUMN FLANGE (TYPE 2L2) - BOLTED-WELDED
NOT TO SCALE NOT TO SCALE
Key Plan
DA
ek
(//\\ : ] L
- i
o, c
NN
w 5
N TYPE 2L.3 DOUBLE ANGLE 1/2-. o TYPE 2L4 DOUBLE ANGLE Lg @
| - . . = - . E NORTH
'*”i‘ (3-112" LEG TO BEAM) SHEAR CONNECTION SCHEDULE: ""i‘ (3-112" LEG TO BEAM) SHEAR CONNECTION SCHEDULE: N %
(5-1/2" BOLT GAGE AT COLUMN) (5-1/2" BOLT GAGE AT COLUMN)
- iR @1' / 3/4" DIAMETER ASTM F3125-N BOLTS - ]l : / 3/4" DIAMETER ASTM F3125-N BOLTS
p—| —
ZXON=] || | GRADES A325 OR F1852 0| 2 || | GRADES A325 OR F1852
Sz 2| Y © NR Sl 1417 3 SIDES =
I I
@ § S '] Q' < BEAM SIZE | g 1s CONNECTION CAPACITY (KIPS) 3 & ol | /2 BEAM SIZE | go(Ts CONNECTION CAPACITY (KIPS) No. Date  Description
Z wi|w i = w (i | : ipti
@ i O W8 - W12 2 25 %) S W8 - W12 2 45 05202022 ISSUED FOR PERMIT
| W12 3 48 : W12 3 76 06.20.2022 100% CONSTRUCTION DOCUMENTS
W14 - W18 3 55 W14 - W18 3 76 07.01.2022  100% CONSTRUCTION DOCUMENT- 1
L SUPPORTED BEAM W16 - W24 4 81 L SUPPORTED BEAM W16 - W24 4 102
\ W18 - W30 5 124 \ W18 - W30 5 127
COLUMN SUPPORT W21 - W40 6 153 COLUMN SUPPORT W21 - W40 6 153
W27 - W44 7 178 W27 - W44 7 178
W30 - W44 8 204 W30 - W44 8 204
_ W33 - W44 9 229 W33 - W44 9 229
NOTES: W36 - W44 10 254 NOTES: W36 - W44 10 254
1. SEE TYPICAL ANGLE SHEAR CONNECTION GENERAL NOTES 1. SEE TYPICAL ANGLE SHEAR CONNECTION GENERAL NOTES
FOR ADDITIONAL INFORMATION FOR ADDITIONAL INFORMATION
2. SSLT HOLES IN ANGLE LEG TO COLUMN SUPPORT 2. SSLT HOLES IN ANGLE LEG TO COLUMN SUPPORT
3. PROVIDE ERECTION SEAT PER FABRICATOR WHEN SAME DEPTH CONNECTION 3. PROVIDE ERECTION SEAT PER FABRICATOR WHEN SAME DEPTH CONNECTION
IS REQUIRED ON BOTH SIDES AND BOLT STAGGERING IS NOT POSSIBLE IS REQUIRED ON BOTH SIDES AND BOLT STAGGERING IS NOT POSSIBLE
Plot Date: 08/07/20
4' MlNlMUM COLUMN WEB THICKNESS SHALL BE 0'29" 4 MINIMUM COLUMN WEB THlCKNESS SHALL BE 0'29“ ALL DRAWINGS AND WRITTEN MATERIALS REPRESENTED ON THIS SHEET CONSTITUTE THE
(|NCLUDESZ W8x31+, W10x33+, W12x40+, W14X43+) (INCLUDES: W8x31+, W10x33+, W12x40+, W14x43+) COPYRIGHTED WORK AND ARE THE SOLE PROPERTY OF REGENERON PHARMACEUTICALS.
THIS SHEET MAY NOT BE REPRODUCED OR COPIED IN WHOLE OR IN PART, NOR MAY ANY
TYPICAL DOUBLE ANGLE SHEAR CONNECTION AT COLUMN WEB (TYPE 2L3) - BOLTED-BOLTED 7) TYPICAL DOUBLE ANGLE SHEAR CONNECTION AT COLUMN WEB (TYPE 2L4) - BOLTED-WELDED
3 NOT TO SCALE NOT TO SCALE REGENERON PHARMACEUTICALS. IF REGENERON MAKES OR AUTHORIZES REUSE OF ANY
SUCH DOCUMENTS OR INFORMATION PRODUCED BY DESIGN PROFESSIONAL OUTSIDE OF
THE PROJECT WITHOUT THE EXPRESS WRITTEN CONSENT OF DESIGN PROFESSIONAL,
REGENERON ASSUMES FULL RESPONSIBILITY FOR ANY AND ALL RISKS INVOLVED IN SUCH
REUSE.
Professional Seal and Signature
Vendor Name: GENSLER
Vendor Project No.: 006.3608.000
Discipline: Drawn By: Author
TYPICAL STEEL BEAM SHEAR
CONNECTIONS 3/4"
DIAMETER BOLTS
Scale: NOT TO SCALE Floor:

© 08/07/20 REGENERON PHARMACEUTICALS INC.



